MCRQ series

ROTARY ACTUATOR mindman

Features

® Centering boss and locating hole for accurate positioning.

® Operating range of table is 0°~190° by angle adjusting screw.
® Compact design using double rack and single pinion.

@ Hollow shaft standard for wiring and piping.

@ Possible to fit shock absorbers as stops.

® Ease of mounting with integral table.

Specification
Acting type Double acting
Tube I.D. (mm) 312 | 616 | 620 | 625 | 932 | 940
Port size M5x0.8 Rc1/8
Medium Air
Sym bol Max. operating  2diusting bolt 0.7 MPa 1 MPa
pressure shock absorber |  — 0.6 MPa (1)
T Min. operating pressure 0.1 MPa (%2)
Ambient temperature 0~+607C (No freezing)
Order example cushion adjusting bolt Rubber bumper
shock absorber |  — Shock absorber
MC RQ - 2 0 R - |:| Angle adjustment range 0° to 190°(max.) (%3)
| |J —r—‘ Sensor switch (3x4) RDF
PIPING TYPE ) . adjusting bolt 0.25 | 060 | 1.31 | 210 | 4.18 | 7.67
CF &5 Blank: End port e cabsober| — | 061 | 131 | 242 | 419 | 7.72
% 1. The maximum operating pressure of the actuator is restricted by the maximum
allowable thrust of the shock absorber.
ﬁNva;idAjEs‘:lggsgoEltR ii g: L:ar:leoirf](tj:(leo:c?t.ation angle of a type with internal shock absorber is set below the

value in the table below, the piston stroke will be smaller than the shock absorber’s
effective stroke, resulting in decreased energy absorption ability.

R: With shock absorber
% ¢ 12 without shock absorber

Tube I.D. (mm) $16  $20 P25 32 $40
Minimum rotation that
will not allow decrease 72° 58° 69° 77° 82°

%% ¢ 12 only option.
3% Piping port cannot be changed
after delivery. 4. RDF specification, please refer to page 5-10.

of energy absorption ability

Allowable kinetic energy and rotation time adjustment range

L Rotation time adjustment range for
o Allowable kinetic energy (J) stable operation(s/90°)
Adjustment bolt Internal shock adsorber Adjustment bolt Internal shock adsorber

MCRQ-12 0.006 - -
MCRQ-16 0.007 0.039

0.2t0 1.0
MCRQ-20 0.048 0.116 0.2t0 0.7
MCRQ-25 0.081 0.294
MCRQ-32 0.32 1.6 0.2t0 2.0

0.2t0 1.0

MCRQ-40 0.56 2.9 0.2t0 2.5

% Be careful if a type with internal absorber is used below the minimum speed, the energy absorption ability will decrease drastically.

/1V1|Minqun



MCRQ Table displacement

ROTARY ACTUATOR

mindman

b 16~¢ 32

99929 o2
| N
o oo il

i

o

o )J///\ L
| —
L}
)| [
Material
No. Part name Material Tube LD. = REiFt):Ir No. Part name Material Tube L. =Y Rﬁi?:"
12| 16]20~32{ 40 |(inclusion) 12|16 20~32] 40 (inclusion)

1 Body Aluminum alloy 1 21| Piston Seal NBR 4 ()
2 | Cover Aluminum alloy | 2 1 22| Stop chunk Aluminum alloy |[— | 2 | =

3 End cover Aluminum alloy | 2 1 23| Pin SCM 1

4 Pinion SCM 1 24| Plate Aluminum alloy | 1 | =

5 | Bearing retainer | Aluminum alloy 1 25| Plug Copper — 1

6 | Table Aluminum alloy 1 26| Plug washer PET = 1

7 Piston Stainless steel 2 27| Piston retainer Aluminum alloy — 2

8 | Rolling bearing Bearing steel 1 28| Piston snap ring Spring steel = 2

9 | Rolling bearing Bearing steel 1

10| Snap ring Spring steel — | 1 | —

11 See.ll nut Carbon steel 2 Order example

|| o7ing NBR 42 ]+] @ of repair kits

13| Shock absorber | Stainless steel (31 2 P

14| Cushion pad NBR Tube I.D.|  Repair kits

15| Magnet Magnet material | 4 | 2 ¢$12 | PS-MCRQ-12

16| Seal washer %2 2 [ ] ¢16 | PS-MCRQ-16

17| Fixed Copper —| 4 2 |— ¢20 | PS-MCRQ-20

18| Piston packing NBR 11— 2 |—| @ $25 | PS-MCRQ-25

19| O-ring NBR —| 4 2 |— [ ] ¢32 | PS-MCRQ-32

20| Wearring Complex resin 4 ¢ 40 PS-MCRQ-40

% 1: ¢ 40: Carbon steel
% 2: ¢ 12~ ¢ 32: NBR+Stainless steel; ¢ 40: NBR

/M mindman




MCRQ Dimensions ¢ 12

ROTARY ACTUATOR mindman

8-M4 X 0.7 X 6.5 depth P.C.D ¢ 29 ) 32.5 1
(circumference: 8 equivalents) ‘ A
|

2-¢$ 7.5X4 depth AK 3H9 X 3 depth
¢ 4.3 thru !

»
ST

30

r
5
OO0
28
S
|
|

4-M4 X 0.7 X 4.5 depth 45

3H9 X 3 depth

(Max.approx. =20) 73.5

Effective depth 3
o
w
©
=
©

& 20H9 © 18.5 2-M5x0.8
S / (Standard: End port)

2-opposite side 10

2-M6x1.0
Adjusting bolt

—

‘ :
‘ 6 thru 6 o
1 N
2M5x0.8 59.5 2M5%0.8
‘

(-E: Front port)

e
-
=

(34.5)

=
==y
N

|
1
|
|
|

¢ 7H9 X 1.2 depth

15.5 !

3H9 X 3 depth

2-M5x0.8

VA
G

H g

ﬂ//ﬂMindman



MCRQ Dimensions ¢ 16, ¢ 20, ¢25

ROTARY ACTUATOR mindman
8-QQ X QA depth; P.C.D ¢ QB
(circumference: 8 equivalents)
2-¢ UAX UB depth kA
¢ UU thru
EH B
9%
2-BB D
(Bolt width) R
4-MM x MA depth / |
(Max.approx. =RR) L
o
£ 6LC
3
N B $LB
K 8 LA
& ¢ o
|
|
i [a)
| | |
] | | L | -
—t— . A T
] | '
x
o . . T
2_84/ ‘ [ i ‘
Adjusting bolt ] | |
2-AA E thru
oF 2-DD x DA depth
MCRQ-16~25R
With shock absorber 1.6 ZX 2 G
(Max. approx. =RP) ‘ ‘
. <
Ql
gﬂ 0 s
T °
- - T
T
] BE=—
Shock absorber
Unit: mm
Tli)o:ﬁn A |AA| B |[BB| C | D |DA DD E F G H HH | J|K|L|LA|LB|LC |MA|l MM N
16 34 | 14 | 45 8 (13|12 | M8x1.25 6| 15H9 | 9.5| 47 [3H9X3.5| 60 | 27 | 26 | 92 | 20H9 | 45h9 | 46h9 | 8 |M5X0.8 | 37
20 40 | 17 | 6.5 10 [ 17 | 15 | M10X 1.5 | 10| 22H9 | 12 57 |4H9x4.5| 84 | 37 | 32 |127|32H9 | 65h9 | 67h9 | 8 |M6X1 54
25 46 | 22 |75 12 {20 | 18 | M12x1.75 | 13| 26H9 | 15.5| 66 |5H9x5.5|100| 50 | 37 |152|35H9 | 75h9 | 77h9 | 8 |M8Xx1.25| 63
Tf;:ﬁD O|P PP QA | QB QQ R [RP|(RR S T TT UA(UB(UU| W | X | XA|XX| Y |YA|YY|ZX
16 155/ 4 |FK-1008L-S| 8 | 32 [M5x0.8 (29 | 29 [ 31 [M10x1.0{ 55| M5x0.8 | 11 | 6.5 6.8 50 |15 [ 3.5|3H9| 27 | 3.5 |3H9| 19
20 19.5| 4.5 | FK-1008L-S| 10 | 48 [M6x1.0 (33 | 36 | 23 [M10x1.0{ 45| Rc1/8 14 | 8.5| 8.6 70 |23 | 4.5(4H9| 39 | 4.5 |4H9| 28
25 22 |5 |FK-1412L-S| 12 | 55 |M8x 1.25(37.5| 33 | 28 [M14x1.5( 75| Rc1/8 18 [10.5/10.5 80 |26.5| 5.5 [5H9| 45 | 5.5 |5H9| 33

/M mindman




MCRQ Dimensions ¢ 32, ¢40

ROTARY ACTUATOR mindman
MCRQ-32R, 40R 8-QQ x QA depth; P.C.D ¢ QB
. circumference: 8 equivalents
With shock absorber ( a ) 5
2-¢$ UAX UB depth
(Max. approx. =RP) 4 UU thru
N
T - ] @
2-BB
2-PP / B /
Shock absorber 4-MM X MA depth !
(Max. approx. =RR) L
o
E=] ¢LC
5
N hs 6LB
2
K 3 LA
i — o
20T | ‘ | T 1
Piping port | I | a
| | |
51 O 0k | T 1
] I I [ 74— z
« @ . —F i I ‘ - )
o : —
) ]
g G 2 = A
‘ ‘ ‘ ‘ Adjusting bolt ! !
‘ w ‘ ZAA $E thru
M dF 2-DD x DA depth
T G zZX 2 G
2X2-TT
Piping port £
0 s
- | T
2-M5x0.8 T
Piping port =
Unit: mm
Tﬁf:fo A |AA| B BB C | D [DA DD E F |G|H HH l|J|K|L|[LA|LB|LC|M|MA
32 59 | 30 | 12 |Bolt width 12|{14.5| 27 | 18 |M12Xx1.75| 13 | 24H9| 17 | 86|6H9X4.5|130| 66 | 47 | 189 | 56H9 | 98h9 [100h9| 102 | 10
40 74 | 36 | 15 |Bolt width 21{16.5| 32 | 25 | M16Xx2.0 | 24 | 32H9 | 24 (106{8H9X6.5|150| 80 | 60 |240 | 64H9 |116h9(118h9| 120 | 13
e MM |N|O[P| PP |[QA|lQB| QQ R|RP|RR| S |[T|TT |U|UA[UB/UUlW | X |XA
32 M8 X 1.25 85|27.5| 6 | FK-2016L-S|14.5| 77 | M10x1.5 |50.5| 46 34 |M20x1.5|10.5(Rc1/8| 42 | 18 [10.5(10.5| 95(37.5| 6.5
40 M12x1.75 [100|37 | 9 |FK-2725L-S|16.5| 90 | M12x1.75 [ 65.5| 68 | 45 |M27x1.5| 7 |Rc1/8| 57 | 20 (12.5(14.2( 113 (44 | 8.5
Code
e\ XX| Y |YA|YY | 2ZX
32 6H9| 59 | 4.5 |6H9| 49
40 8H9| 69 | 4.5 |8H9| 54

/M|Mindman



	1_Specification
	2_Table displacement
	3_Dimensions ø12
	4_Dimensions ø16, ø20, ø25
	5_Dimensions ø32, ø40

